EARAROBREBRT —5 XN—ZXBISH—F

202268828 (A 10EIER2H

ulhﬂ',l/i_“'f A YS5HR3mE \(9&1@1 W ‘[%EH%F&] - | & 1500 =
[xE<%] 175 :4,000,000 3 . 23#%&:1,120,000 F . 337 :560,000 . 43 :400,000 @ 5 & :320,000 M
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— <, o= = . 4 | AHES 1:33.1 5-5-4-2 | 36.7| — 1 460 | EEADME (KH)
1155 | 73YNZT14—V * 55.0 =) “ny | ® gvF-L—vvo
RW—5—vvF STk J=YUTr—L
5 | FREER 1:33.5 1=1=1=1"" [F37251"" = 2 467 | EEEMEEE KH)
217|9 | 7ZILIL—3X e 55.0 @ 9 | B YWIL—y7
R:T—)URFU2—)L B:RFARIVHARS J=HUT7—L
5 —u = LLIAES S, : -4-2- . - {EBEEE (KR)
] g | T—LFVE—5— 4 | U 1.(353.6 4-4-2-4 | 38.2 3 (4_522) i) 7
R:I—NULRII B:SUAYNvE— DS
g %t 6 | BUIER 1:34.7 9-9-10-5 |37.0| - 5 | 457 |LLBBE (1)
48|11 BAX =L 55.0 /2 ) EEE=
R:O0—RAFO07 B:EIVIIL—I =EEANS
Q— » 4 4 | SREA 1:35.2 3-3-2-3 [ 39.0] - 4 441 | BTz (&R
5156 | N=RAE=F 55.0 2172 (1) | SEEA
R/ RYvwo BORTSYFUR WF %
o 4 3 | MEEE 1:35.5 9-9-9-8 |38.0 — 8 479 | RERRESYE ()
61812 ZL—IL7 KL 52.0 a1/2 5 | B K=257
R:d7rF¥wyasy B:h—tYFUE BRESM IRF1T7—L
t 4 | BWRF 1:36.0 6-7-7-6 |38.9| — 7 183 | BiERZ (&R
71111 |ZRORYAIL * 55.0 21/2) 2 ) *<5474R
R:7ROFVIIL BRIFAvIIT—1 AW T8
O KEHl : -8-8- - bl (&R)
8 4| L=YSVFAvT i 4 b= 1.(3253.4 7-8-8-9 | 39.1 6 :1337) )|
R:7RIAVL—Y B9 KTU— S—L—- Vv XY - TF—LERE
SHRSE :36. -2-4- . - k% (&R
9 7| IAYVk—F it 6 ga 1 (326) 8 2-2-4-7 | 40.4 9 (4+631) i
RISV FURR B:I—YyYbho—0— SERIS
= 8 6 | AEDIE 1:36.9 9-11-11-11{39.2 | — " 428 | FEEREF (%)
10Ey3|772 55.0 (1/2) ) | @ "=257
RIVIRI—=SZRI— BISYRIFI— VAN e
3~ it 4 | RRAT 1:37.2 9-11-11-11 [ 39.4 | — 12 | 430 |BEMRE @R
1 2 ’f s 55.0 a1/ -3 |FisEH
R:IAYVEeHY lI IV L—R RERIS
o4 | KEBH 1:37.2 7-6-6-10 | 40.3| — | 10 | 416 |FHE—tb (&R
12/7|10| ¥FTATT 55.0 "F) (3 | ST
RiUFVF4—R B:XFIV7 1—hETHUS
@ 11— —®BIEfI
13—7+— 9,7,6,8,5,1,(4,10), (2,3,11,12)
20—F— 9,7,6,8,5,10,1,4,(11,12), (2,3)
30—7— 9,(6.,8),(,7),10,1,4,12,11,(2,3)
43—F— 9,5,6,8,11,1,7,12,4,10, (2,3)
o ILRE
B B 5 170M AR 5-9 140M % 3= 5-7 240M4 3EE 5-8-9 3004
7B B 5 100/ 5-8 1604 B 5-7 390M 3EH 5-9-8 1,050H4
9 120/ 8-9 210 /B & 5-9 270
8 120 =51 520) 420
RBICOVTIFUTERERERDDDE, THRLEETL




